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FUNCTIONAL ENGLISH
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Edited by : P. Bhaskaran Nair
Geetha Rajeevan

G. Radhakrishna Pillai
Time : 3 Hours] [Max. Marks : 60
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Attempt any two of the following in about 100 words each : [12]
(@) Why does Tagore ask the devotee to come out of the temple ?

(b) Why did Sigaev decide not to kill his wife, her lover and himself
at the end of the story ?

(c) Comment on the romantic relationship between the mirror and
the opposite wall.

(d) Why do you think Mountbatten felt that Gandhiji would be on
par with Buddha and Christ ?

Q.2) Attempt any three of the following in about 50 words each : [12]
(@) How does Uncle Podger succeed to hang the picture ?

(b) Why does Shakespeare compare the world with the stage and
people with the players ?

(c) What were the magic tricks performed by the conjurer ?

(d) What is the message of ‘Gather ye Rosebuds while ye may’ ?

() Write a note on the destruction caused by the tsunami in ‘The
Town by the Sea’.
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Q.3) Attempt any two of the following : [12]

Q.4)
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(@ Write an essay on ‘Employment Opportunities in Commerce’.
(b) You and your friend are talking about India’s performance in
London Olympics. Write a dialogue on this topic.
(c) Write a paragraph on the importance of Health Education.
(d) Write a letter to your friend over the loss of his Motorcycle.
Do as directed : (Any Six) [12]
(@) Give short forms of the following words :
(i) laboratory
(i) influenza
(b) Use the following idioms in your own sentences as to bring out
their meanings :
(i) fall on deaf ears
(i) once upon a time
(c) Make words by using the following prefixes :
(i) in
(i) anti
(d) Give synonyms for the following words :
(i) gather
(i)  spot
(e) Give verb forms of the following words :
(i)  education
(i)  product
() Make adjectives from the following words :
(i)  reflection
(i)  film
(g) Give full forms of the following :
(i) S.B.L
(i) WHO
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(h)  Fill in the blanks using suitable words given in the bracket and

rewrite :

(1) We wish you to our invitation.
(except / accept)

(i) I know from that you just can’t convince her
on this.

(experience / an experience)

(i)  Construct a meaningful sentence using the following words in
any order :

idea, parents, approve of

Q.5) Do as directed : (Any Six) [12]
(@ If it rains .
[Complete the sentence appropriately.]
(b) He attended the party.
[Change the voice.]
(c) You will not go very close to watch the waterfall.
[Change into an imperative sentence.]
(d) Delhi Is usually very hot in the summer.
[Complete the sentence using a suitable relative clause.]
(e) The stranger said to the villagers, “Please, give me some food.
[Change the sentence into indirect speech.]
() Millionaire models are rare enough.
[Add a question tag.]
() He was the highest spirits Tuesday.
[Fill in the blanks with appropriate prepositions and rewrite.]
(h) Wont it be any trouble.
[Punctuate the sentence and rewrite.]
(i)  Where have you kept the pen ? | have bought.
[Combine the sentences and rewrite.]

[4269]-101/3



Seat
No.

Total No. of Questions : 4] [Total No. of Printed Pages : 7

[4269]-102

F. Y. B. Com. Examination - 2012
FINANCIAL ACCOUNTING
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :

(@) State whether the following statements are true or false:
(Any Five) [05]

(i)  AS-1 is related to Valuation of Inventories.

(i)  Surplus Capital Method is also called as Proportionate
Capital Method.

(i)  Receipt and Payment Account is a Nominal Account.

(iv) Asset taken over by a Partner is debited to his Capital
Account.

(v) Del Cradre Commission is paid to Consignee on Credit
Sales.

(vi) The amount paid by Purchaser to the Vendor on the date
of agreement of Hire-purchase, is called as Down Payment.

(vii) The Balance on Account of Deceased Partner’s Capital
Account is transferred to Executor’s Loan AJ/c.
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(b)

(©)
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Fill in the blanks with appropriate words from the brackets given :

(Any Five) [05]

(i)  Deficiency on Account of Insolvent Partner should be
shared in ratio under Garnor v/s. Murray
Decision.

[Profit and Loss, Capital, Equally]

(i)  Donation received for construction of building is
Receipt.

[Capital, Revenue, Deffered Revenue]
(i)  Hire-purchase Price is Cash Price of the Asset plus

[Interest, Down Payment, Instalment Amount]

(iv) On conversion of partnership firm into a limited liability
company, the purchase consideration is paid by
to Partnership Firm.

[Purchasing Company, Bank, Creditors]
(v) The Relationship of Consignor and Consignee is that of

Principal and :
[Debtor, Creditor, Agent]
(vi) Goodwill Written Off is to Capital Account

of all partners in new Profit and Loss Sharing Ratio.
[Debited, Credited, Added]

(vii) School, Colleges, Non-government Organisations are the
examples of

[Co-operative Society, Joint Stock Company, Non-trading
Organisation]

Write short notes : (Any Two) [14]
(i)  Difference between Hire-purchase and Instalment System

(i)  Causes of Amalgamation of Partnership Firm

(i) Types of Receipts and Payments

(iv) AS-6 (Depreciation Accounting)
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Q.2) A, B and C shared profits and losses in the ratio of 2:1:1. They

decided to dissolve the partnership firm on 31-12-2011

Balance Sheet was as follows :

when their

Balance Sheet
Liabilities Rs. Assets Rs.
Capital A/c’s. : Cash 5,000
A 1,00,000 | Debtors 90,000
B 55,000 | Stock 85,000
C 25,000 | Plant and Machinery 65,000
General Reserve 20,000 | Land and Building 1,65,000
Income Tax 15,000
Creditors 1,17,000
Bills Payable 78,000
4,10,000 4,10,000

The assets realised as follows :
1st Instalment Rs. 15,000.

2nd Instalment Rs. 2,12,000
3rd Instalment Rs. 82,000

4th Instalment Rs. 58,000

Provide for Dissolution Expenses Rs. 5,000. The Actual Expenses were

Rs. 3,000.

Prepare :

(@) Statement showing Surplus Capital

(b) Statement showing Distribution of Cash

[4269]-102
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Q.2) A, B and C were partners sharing profits and losses in the ratio of
4:3:1 respectively. On 31 December, 2011 they agreed to convert
their business into a limited liability company. On which date India
Ltd. was formed to take over the running business of partnership firm
when the Balance Sheet of the firm was as follows :

Balance Sheet

Liabilities Rs. | Assets Rs.
Capital Accounts : Land and Building | 1,80,000
A - 2,00,000 Machinery 1,20,000
B - 1,50,000 Debtors 1,50,000
C - 1,30,000 4,80,000 | Stock 1,30,000
Loan from Bank 40,000 | Cash 20,000
Sundry Creditors 80,000
6,00,000 6,00,000
The company took over the following assets at the valuation stated
below :
Land and Building Rs. 2,20,000
Machinery Rs. 1,10,000
Debtors Rs. 1,40,000
Stock Rs. 1,20,000
Goodwill Rs. 40,000

The company also agreed to take over creditors at Rs. 77,000 but not
took over loan from Bank, which was totally paid by the partnership firm.
The company paid purchase consideration as Rs. 3,36,000 in fully paid
shares of Rs. 10 each and the balance in cash. The expenses amounted
to Rs. 5,000 which was paid by the partnership firm. The partnership
firm sold the shares received from the company in the market for
Rs. 3,40,000.

Prepare :

(@ Realisation Alc.

(b) Partner’s Capital Alc.

(c) New Co. Alc.

(d) Shares in New Co. Alc.

() Cash Alc.

in the Books of Partnership Firm. [14]
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Q.3) (A) Sharad, Sadashiv and Sanjay were partners sharing profit and
losses in the ratio of 2: 2 : 1. Their Balance Sheet on 31-3-2011

(B)
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was as follows :

Balance Sheet

Liabilities Rs. Assets Rs.

Capital Alcs : Plant and Machinery| 15,000

Sharad 20,000 | Stock 20,000

Sadashiv 16,000 | Debtors 15,000

Sanjay 14,000 | Cash at Bank 5,000
Profit and Loss A/c.| 10,000 | Building 20,000
Creditors 15,000

75,000 75,000

Sanjay retired on 31-3-2011 and the following arrangements are
to be made :
(1) Goodwill of the firm be valued at Rs. 15,000.

(2)
(3)
4)

Depreciate Plant and Machinery by 5%.
Building to be appreciated by 10%.
Provide for Bad and Doubtful Debts @ 5% on Debtors

and Creditors allowed 2% discount.

You are required to prepare :
Revaluation A/c.
Capital A/c. of all partners.

@)
(b)

Transfer Balance on Sanjay Capital A/c. to his Loan Account. [08]

Bharat Colliary Company Ltd., leased coal mine to Bengal
Company Limited for the period of 10 years. The rate of Royalty
was decided at Rs. 2 per tonne and minimum rent at Rs. 15,000
every year. Shortworking if any can be recovered in first three
years only. The production for four years was as follows :

2007 - 3,000 Tonnes
2008 — 6,000 Tonnes

2009 - 10,000 Tonnes
2010 — 13,000 Tonnes

You are required to pass necessary journal entries in the books
of Bengal Company Limited for all the four years.

5
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Pool for the year ended 31-12-2011 :
Receipts and Payments Account

Q.4) Following is the Receipts and Payments Account of Deccan Swimming

Dr. Cr.
Receipts Amount | Payments Amount
(Rs.) (Rs.)
To Balance b/d. 7,400 | By Bar Expenses 8,200
To Subscription 13,200 | By Water Cleaning
Expenses 3,600
To Donation for
Buildings 50,000 | By Printing and Stationery 1,400
To Sundry Income 1,000 [ By Construction of
Buildings 40,000
To Match Receipts 1,400 | By Match Expenses 1,140
To Locker Rent 3,000 | By Salaries 8,000
To Bar Receipts 8,600 | By Electricity 540
By Investment in Govt.
Securities 20,000
By Balance c/d. 1,720
84,600 84,600
Additional Information :
Particulars As on As on
31-12-10 31-12-11
Printing Materials 460 640
Outstanding Salaries 600 900
Outstanding Subscriptions 600 1,400
Outstanding Electricity 160 180
Outstanding Bar Expenses 2,200 3,400
Swimming Pool 1,40,000 1,30,000
Buildings 1,00,000 1,34,000

Prepare Income and Expenditure Account for the year ended
31-12-2011 and Balance Sheet as on that date. Donations for Building
treated as Revenue Income.

[4269]-102

OR

6

Contd.



Q.4) (A) Ratanlal of Ratnagiri consigned 500 Boxes of Tea to Sohanlal

(B)

of Shrirampur at the rate of Rs. 100 per box. Ratanlal paid
Insurance and Transportation Rs. 780. Ratanlal drew bill of
Rs. 10,000 on Sohanlal, which Sohanlal accepted and sent it back
to Ratanlal. Ratanlal got the bill discounted with bank at Rs. 9,900.

Sohanlal on Receipt of Consignment paid Rs. 180 for loading
and unloading charges. He is to get 5% commission on total
sales. Mr. Sohanlal sold 500 boxes of Tea at Rs. 150 per box.
The balance was remitted by Bank Draft.

You are required to pass journal entries in the books of
Ratanlal.

Mr. Prakash purchased on 01-01-2007, a machine on Hire-
purchase System. The cash price of the machine was Rs. 80,000.
He paid Rs. 20,000 on the date of purchases and agreed to pay
balance in four annual instalments of Rs. 20,000 each together
with Interest. The vendor charged interest @ 12% p.a.
Mr. Prakash decided to depreciated the Machinery @ 15% p.a.
on Reducing Balance Method. The Accounts are closed on 31
December every year.

Prepare :
(@ Hire Vendor Alc.
(b) Machinery Alc.
in the books of Mr. Prakash.

[4269]-102/7
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F. Y. B. Com. Examination - 2012
BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Draw neat diagrams wherever necessary.

Q.1) Explain the Economic and Non-economic Goals of Firms. [16]
Q.2) Explain the Law of Variable Proportions. [16]
OR

Q.2) What is Demand Estimation ? Explain the Methods of Demand
Estimation. [16]
Q.3) Answer in brief : [16]

(@) State the Risk and Uncertainty Bearing Theory of Profit.
(b) Discuss Modern Theory of Rent.

OR
Q.3) (A) State Concepts of Total Revenue, Average Revenue and Marginal
Revenue. [08]
(B) Explain Concept of Price Discrimination. [08]

Q.4) What are the features of Perfect Competition ? Explain Short Run
Equilibrium of a Firm under Perfect Competition. [16]

[4269]-103 1 P.T.O.



Q.5) Write short notes : (Any Two) [16]
(@ Price Skimming
(b) Quasi Rent
(c) Collective Barganing

(d) Motives of Liquidity Preference
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[4269]-104
F. Y. B. Com. Examination - 2012

MATHEMATICS AND STATISTICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic tables and calculator is allowed.
(4) Both the sections should be written in the same answer-book.

SECTION - |

Q.1) Attempt any four of the following : [2x4=08]
(@ Find simple interest for 3.5 years at 15% p.a. on Rs. 1,600.
(b) Explain Finite Set and Infinite Set.

2 4 6 -3

© 1Aa=|8 3| B=|3 -3

1 -10 2 10
find A + B.

(d) If f(x) = 5x + 3, find f(0) + f(2).
() What is Stock Exchange ?
()  Shade the region defined by the inequality :

3X + 6y < 18

Q.2) Attempt any three of the following : [5x3=15]
(@ If Rs. 12,000 is invested for 5 years at 12% p.a., compounded
every year, find the amount on maturity.
(b) A camera worth Rs. 10,000 is purchased on instalment basis
under 20 monthly instalment including interest at 18% p.a. Find
Equated Monthly Instalment (EMI) by Monthly Reducing Balance
Method. [(1.015)*° = 1.3468]
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(c) Find inverse of following matrix :

(d) Evaluate :

o X2 — 4
Q) o2
(x - 2)
o im X2 = TX + 12
(i) x>3 (X — 3)
(e) What sum will amount to Rs. 2,480 in 2 years at 12% p.a. simple
interest ?
Q.3) Attempt any three of the following : [5x3=15]
4 1 1 8
() IfA={6 2},B= 9 2|
find |A| + |B|.

(b) A toy manufacturer produces two types of toys, dolls and guns
each of which must be processed through two machines ‘A’ and
‘B’. The maximum availability of 3nackines ‘A’ and ‘B’ per day
are 12 and 18 hours respecheTy Manyfacturing a doll requires
4 hours in machine ‘A’ and 2 hours in"machine ‘B’, where as
a gun requires 3 hours of machine ‘A’ and 6 hours of machine
‘B’. If the profit per doll is Rs. 20 and gun is Rs. 50, formulate
the LPP to maximize profit.

. dy

(c) Ify=(xH+3 (x-23), find e

(d)  Which investment is better ? Jusfity :
6% at Rs. 96 or 9% at Rs. 72. [Face Value Rs. 100]

(e) A sum of money invested on simple interest amounts to Rs. 8,880
at the end of 4 years and Rs. 9,600 at the end of 5 years. Find
the Principal Amount and Rate of Interest.
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SECTION - 11

Q.4) Attempt any two of the following :

@)

(b)
(©)

(d)

Define :
() Attribute
(i) Variable

State any two properties of Coefficient of Correlation.

[2x2=04]

Calculate the Range and Coefficient of Range for the following data :
88, 52, 67, 38, 59, 46
Compute Median for the following series of observations :

125, 140, 110, 105, 130, 95, 115, 125, 85

Q.5) Attempt any three of the following :

@)

(b)
(©)
(d)

)

Describe the scope of statistics in the following fields :

(i) Economics

(i) Management Sciences

Describe advantages of Sampling over Census.

Define Index Number and state uses of it.

[5x3=15]

Monthly consumption of electricity in units of six families in a
city is given below. Compute coefficient of variation for it.

210, 207, 315, 320, 250, 240
The frequency distribution of marks obtained by 100 students

in F. Y. B.Com. is given below :

[4269]-104

Marks 0-9 10-19 | 20-29| 30-39 | 40-49
No. of
Students| 10 24 30 20 16

Answer the following questions :

(i) State the type of classification.

(i) Find the class-mark of 3rd class.

(i) State the class boundaries of 5th class.

(iv) Find the class width of 2nd class.

(v) Find the number of students getting marks less than 30.

3
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Q.6) Attempt any three of the following : [5x3=15]
(@ Compute Standard Deviation for the following data :
Marks 0-10 10-20 20-30 30-40 40-50

No. of
Students 3 7 25 20 5

(b) Following is the frequency distribution of percentage of divident
declared by companies :

Divident % | 10-15 | 15-20 | 20-25 25-30 | 30-35

No. of
Companies 15 20 35 10 5
Find Mode.

(c) For a set of 50 items, the mean and standard deviation are 60
and 3 respectively. For another set of 100 items, the mean and
standard deviation are 63 and 4 respectively. Find the mean and
standard deviation of combined group.

(d) Given : 2 PG = 1900, = 1360,

= 1880, = 1344
Find Laspeyre’s, Paasche’s §d Fisher’s Price Index Number.

(e) Obtain the Rank Correlation gg?ﬁcient for the ranks given by
two judges in a contest :

Rank by Judge ‘A’| 3 6 2 4 5 1
Rank by Judge ‘B’| 4 5 2 3 6 1

Q.7) Attempt any one of the following : [8x1=08]

(@ Calculate Karl - Pearson’s Coefficient of Correlation from the
following data :

Demand in Tonnes|9 | 11| 13| 15| 17 |19 | 21| 23
Supply in Tonnes |6 | 8 | 10| 12 | 14 | 16 | 18| 20
(b) () Given the following data :

Rainfall Yield

(in inches) (in quintals)
Mean 27 40
Standard Deviation 3 6

Correlation Coefficient = 0.8
Estimate the yield when rainfall is 29 inches.
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(i) Draw a Histogram for the following data :

Profit
(in Rs.) 30-40 | 40-50 50-60 | 60-70 70-80
No. of
Shops 8 18 23 45 26
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(31 U AMEAATST FHIA-TRRE—ar Jgddy TEoE FEl
AOTO (SATHeR) | S 92| 93| 3% | | 3¢ | 3% |3
q@el @ W) | § | ¢ | o | | 38| 35 | 3¢ |Ro

(@ () YR Sder Aifedemer

TS 3T
GFEme) | (FRea gdt =)
LR R o
gHITe e 3 g
AT HGOTF o0.¢ T USIATE ¢ §9 TS WA %

SR HIEl.
(i) Yol AfEdEel WA $El
TET (FUIIA) | 30-Yo | Bo-%o | 4o-fo

THEEEN ST ¢ 3¢ 3 8% 3§

‘c;O—(go (go-¢o
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[4269]-105

F.Y.B. Com. Examination - 2012
COMPUTER CONCEPTS AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - |

Q.1) Attempt any four of the following : [4x2=08]
(@) Define Output Device. Give one suitable example.
(b) What is Memory ? State its types.
(c) Give any two uses of Computer in Commerce Education.
(d) Name any four Websites which are related to Commerce.
() Write any two features of Spreadsheet.
()  Define :
(i) Analog Computer
(i) Digital Computer

Q.2) Attempt any four of the following : [4x4=16]
(@) Explain the different Generations of Computer.
(b) What is E-commerce ? Write advantages of E-commerce.
(c) Explain Floppy Disk as External Storage Devices.
(d) Explain Control Panel used in Windows Operating System.

(e) What is Electronic Data Interchange (EDI) ? Explain the benefits
of EDI.

()  Write a short note on Power Point Presentation.
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Q.3) Attempt any four of the following : [4x4=16]
(@ What is Scanner ? Explain its types in detail.
(b) Explain Search Engine with the help of an example.
(c) Explain E-market along with its advantages and disadvantages.
(d) Explain different features of MS-Excel in detail.
(e) Explain in detail different characteristics of Computer.

()  What is requirement of Anti-virus Program ?
SECTION - 11

Q.4) Attempt any four of the following : [4x2=08]
(@) What do you mean by Account ?
(b) Define Order Processing.
(c) List important keys used in Tally.
(d) What do you mean by Assessable Value ?
(e) Define the terms :
(i)  Asset
(ii) Liabilities
()  What do you mean by VAT Bill ?
Q.5) Attempt any four of the following : [4x4=16]
(@) Explain the important features of Tally.
(b) Explain the Balance Sheet with the help of suitable example.
(c) Explain Concept of Order and Buyer Details.
(d) How to create Debit Note in Tally ?
(e) How to create Journal Voucher for TDS ?

()  What are the advantages of Computerized Accounting ?
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Q.6) Attempt any four of the following : [4x4=16]
(a) Explain the Bank Reconciliation Statement.
(b) How to create Sales Order in Tally ?

(c) Explain Trading Account and Profit and Loss Account in
Tally.

(d) Explain in detail the Concepts of Loading, Selecting and
Shutting Company in Tally.

(e) Explain the Chart of Account.
()  Explain the Billwise Details in Tally.
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AT HATAR
3% : 3 d9] [gspur qor ;80
AT
(1) T F97 AU NTT9TFH 378,
(2) ISAIBSIT 3iF geATd qUf OT FIfaar.
(3) FI=El Iy uera IEufaed gisarad.
faamr - ¢
7.1) Jeidudl FHiUdal IR T WiEdT [4x2=8]

(31) Output Devicedt =T foal. @< TH ISTEIOT .

(F) THY | S ? A YBR B 7

(F) v freroTeer WRTOTRTY HIUIAE! I IUMNT HET.

(3) HIUTIE AR ITAFS ST A0S TR Sl 3Tga &=t =i
foTar.

(3) W=lic (Spreadsheet)<it = dfyrse |,

(B) Tl FAT e

(i)  Analog Computer (HTh)
(ii) Digital Computer (TUTF)

9.2) Yeldud! HiUdal IR T WiEdT [4x4=16]
(37) AT TUsteaT EuTe faeRer &AL
(F) E-commerce ¥INI ®F ¢ ATd BES [(TEl

(F) ‘oAt fs@=’ (Floppy Disk) & ST SRuThiferesT 31 TseiahoT feTat.
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() =i TR JoTeiHeid St Yeerdr 9T {i.

(3) ‘SAFRM-® ST g™’ (EDI) ®ul ™ ¢ & SYINT I,

(%) UraY digcdl oOiSHTd [aaor .

9.3) el FHiUMal IR T FEAT [4x4=16]

(31) Scanner IS FE ¢ AT YPHR (Tal.

(T ‘Fa AT Tgawer ISERer 39 o

(F) F-gmbc (E-market)d ®EE 4 dic a3 faawor foEr
(3) MS-Exceldt Ifsre<t foawor fetar.

(3) wworwre fafaer worRte foE

(%) Anti-virus UMY HIOTHRHES  ITINT HA.
faamr - R

9.4) qEi@dd! FHiUMal IR g AqiEdT [4x2=08]
(37) Account ®UN HT ?
(F) 3T wraRwr (Order Processing) #=Umst &1 9

(F) Al T WOF GOMA Agarar g4 (Keys) wiowdr ©

() Assessable Value Toss &3,

(3) TIT AT (&l -
(1)  Asset
(i) Liabilities
(%) VAT Bill =t &I ¢
9.5) Jeldud! FHiUMal IR T FiEdT [4x4=16]

(31) It AT WIAUE GO FHEaTdl dfeTe Wi,
(F) Tef=T T IFTEOMEE TACIHIT H.

(%) Order ¥ Buyer Detail<t Fca-age faawor .

() Jamed 2fae i (Debit Note) &t TR & o forar
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() TDS ISt SA@ =9 (Journal Voucher) &R TR Famd o

ToTar.
(%) ORI SEREE (Computerized Accounting)d ®E® @iord o
TeTar.
9.6) Jeldud! FHiUMal IR T WiEdT [4x4=16]

(37) Bank Reconciliation Statements faa=or ferar.
() Scitwed Sales Order et dOR HAT o ToTal.

(F) e e 3ee (Trading Account) @ Wiftee amifor ot
3Tk (Profit and Loss Account) &® O &A1 o foTal.

() <Zettmed Loading, Selecting and Shutting Company=t  feraor
.

() Chart of Account @ faaeor fetaT.
(%) Billwise Details® faewor feter.
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[4269]-106
F. Y. B. Com. Examination - 2012
COMMERCIAL GEOGRAPHY
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Neat diagrams must be drawn wherever necessary.
(3) Use of map stencils is allowed.

Q.1) Answer the following upto 20 words each : (Any Ten) [20]
(1) What is Natural Environment ?
(2) What is Primary Economic Activities ?
(3) What is meant by Resources ?
(4) Write the definition of Commercial Geography.
(5) Write any two names of trees in Equatorial Forest.
(6) What is Truck Farming ?
(7) What is Wind Energy ?
(8) Mention main types of Trades.
(9) Give any two names of Automobile Industries in India.
(10) State any two National Parks in India.
(11) Give any two advantages of Roads.
(12) Give any two advantages of Dot Method.

(13) Give any two factors of Industrial Location.
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Q.2) Answer the following upto 50 words each : (Any Two) [10]

(1) Factors of Natural Environment
(2) Secondary Economic Activities
(3) Tourist Centres in India
(4) The Suez Route
Q.3) Answer the following upto 150 words each : (Any Two) [20]
(1) Explain the Approaches to the Study of Commercial Geography.
(2) Explain the location and characteristics of Plantation Agriculture.
(3) Explain the Main Industrial Regions of India.
(4) Explain the factors influencing Tourism.
Q.4) Answer the following upto 300 words each : (Any Two) [30]
(1) Explain the nature and scope of Commercial Geography.
(2) Explain the Non-conventional Energy Resources.
(3) Explain the factors affecting Industrial Location.
(4) Explain the Geographical Factors affecting International Trade.
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(1) §d 997 FISIvr 7999 37Ed.
(2) 3MFTF TFUd GAF ATHAT FIel.

(3) TAPFIMT LfHed TIOOITT G 3Tz,

[Total No. of Printed Pages : 2

[CFoT T[OT : 80

9.1) Tl 9Tl FAH! R0 eFid Ia¥ foal : (FUE g )

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

AR UTaReT TS HT 9
TS MUF qaq oS & 9

ATAEYST S BT 9

TR AT @G ToTar.

o

FYaaT 3RUATAIA HIVTETE! i ger=r Aid @@
TS Adt (SF BT IS & 9

A

qaq IS WU B 9

LM Hed AR T,

(e [V N . o
HIRXATAIA IO ATEl 14 dlad SHEMET ATd Todgl.

WRATAIA HIOTATE ST AT JAET i A

W AEgHE §9 BEs HE.

o [aV .
ICd Ygdld <l Wl HNIL

o

STNTEETAT RSB TRUTH  HITR g9 °ch ",
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9.2) el YAl Yddbl 4o eIid I foT@r @ (FIuTdEt q) [10]

(1) i i 9cs
(2) Tedm gote @aE™
(3) HRAIA qded Uk

(4) gugr AW

9.3) el 99Tl Yl 4o Me3Td ITX foT8r : (FIUHEr qiA) [20]
(1) IR AT STHETEISAT T .
(2) woATAT A WM T ARSI W F.
(3) WA AT MRS [THNTd TCEIHOT FH.

(4) UHCA FEEEER GRUMH HOR e T H.

9.4) T YA YdH! oo TEFd IR (7@l : (HIUAET FH) [30]

(1) =N Piae @WET T Al T .

(2) SUNUIRF FofrHld TS B,

(3)  IUNTEETAT WEMRTAEY IR FHOTR 9Shid TS0 .

(4) IMAWET FURET RUTH FHON ARNTAE T9eF T H.
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[4269]-107
F. Y. B. Com. Examination - 2012
CO-OPERATION
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1)

Q.2)

Q.2)

Q.3)

Q.3)

Q.4)

What is Co-operation ? Explain in details the Basic Principles of
Co-operation. [16]

Explain various types of Credit and Non-credit Co-operatives. [16]
OR

Explain the role of Central and State Government in Co-operative
Movement in India. [16]

(A) What is Promoter ? Explain the role of Promoter in

Co-operative. [08]

(B) Explain the powers and duties of Co-operative Registrar. [08]
OR

(A) Explain Legal Procedure of Amendment of Bye-laws. [08]

(B) Explain Registration Procedure of Co-operative Society. [08]

Explain various Laws relating to Non-agricultural Credit Co-operative
Society. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Machalegan Committee Report
(b) Co-operative Leadership
(c) Responsibilities of Promoter in Relating to Registration

(d) Importance of Bye-laws
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[4269]-107
AUSt HUTAT
% : 3 dM] [CFOT T[T : 80
qAAT
(1) & g97 FSor S7=aFd 3z
2) ITAIESIT 3HF goArd GOl TOT FOffIar.
(3) FIHAIEST qeE FUST FeATAET GETL.
7.1) PR WIS HE ? FEhNEl Jadd ITE H. [16]
7.2) Uq@@T 7[R uqdeid e e & [16]

fpan

¥.2) WRAIA HEPR ToHaesdid dg 9 Tod AHREl JHAST T F. [16]

9.3) (3) Ydd® FUNT FE ¢ YIB! FEPRCIA HHSBT w2 HA. [08]

(F) FEPR FEHEr MUER M7 Fdad T B [08]
T

9.3) (37) UM FEHEEAl HESR FFaT ¥ F. [08]

(F) TSP TR AT GipAT TS [08]

7.4) for FE gouw v fofta s ws s [16]
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9.5) uigwd feur forer ;o (FoErEr §9) [16]
(31 o WD 3EATA
(F) FEBPW Aqd
(F) GO FIATAIA TadhreaT  STETagTT
(¥) IJUT "
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[4269]-108
F. Y. B. Com. Examination - 2012
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.
Q.1) Answer in 20 words each : (Any Ten) [20]

(1) What do you mean by Defence Management ?

(2) State any two Powers of the President in relation to the Armed
Forces.

(3) Write any two functions of the Border Security Forces.
(4) Define Intelligence.

(5) State the meaning of Artillery.

(6) How you would like to define Air-power ?

(7) State the meaning of Administrative Services in Military
Organisation.

(8) What do you mean by Perspective Strategy in Defence Planning ?
(9) State the meaning of Mobilization of Defence Forces.

(10) State any two limitations of Defence Management.

(11) Write the meaning of Logistics Management.

(12) Write any two relationship between Parliament and Armed Forces.
(13) Write any two functions of National Security Council.
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Q.2) Answer in 50 words each : (Any Two) [10]

(1) Explain Defence Committee of the Cabinet.
(2) Discuss Organistion of the Indian Navy.
(3) Explain characteristics of Signal Corps.
(4) Discuss the role of Army Medical Corps during peace period.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) Explain Modernization Programme of Indian Army after
Independence.
(2) Discuss the functions of Ministry of Defence.
(3) Explain the role and limitations of Armored Corps.
(4) Explain various types of Aircrafts in Indian Air Force.
Q.4) Answer in 300 words each : (Any Two) [30]
(1) Write a critical note on Indian Intelligence Organisation.
(2) Discuss the role and limitations of Indian Navy in maintaining
India’s National Security.
(3) Explain Higher Defence Organisation in India.
(4) Write a note on India’s Second Line Defence.
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W& TUT

9% : 3 a™] [gspor IrO0T ;80
{{?FIT :
(1) FF F97 FIL(A9 3MTT9TF ITE.
2) IFAIESIT 3P goArd Gl o7 FIIar.
7.1) YAHl 0 E(A IAT AT : (IR FQAN) [20]
(1) T®IOT FOAYA Ol B 7
(2) I FATSATAT TSATAIA TLAATT BIUTAE! S TUHR THS F.
(3) T RIS FHUder I HY @@l
(4) ‘grefas’ =T o
(5) ‘AreEEr F AHT HA
(6) TATE HTHAET AGAT MUY FIM FAA ¢
(7) B0 FOSAIA YHBIT daT WOl i ?
(8) WU T WiEle® ool ®|Usl & ?
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HWRIOTSAT AT 0TS BT 9
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HIRT OAEd d FAS TAT ST SOl S g9kl =i
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q.2) Y@t 4o SMSFA IWY AT : (FIUHEN FH) [10]

(1) ‘Floacar 9 ST T H1.
(2) ‘RO TEdrl d9cAr giaed 9=l B,
(3) Fraa wraar e W= &
(4) TAATHTAA ATHT ASHA BT raHal =adi H.
7.3) Y@ 4o SR IAX AT : (FIUMEN TH) [20]
(1) JIRESIT=T WA YEardT el [9he T F.
(2) TWIOT HAGETT HE T FH.
(3) AR HEA! JYHEGT T AR T F.
(4) WA saEsANe [y TEEE 9eR T $4.
7.4) Y@t 3oo ERE I AT : (FIUME! THA) [30]
(1) wRATEN Te=R g9on graR fewres fegor forar.

(2)

3)
(4)

TRATAT TG FRIT TEIT TSI, ARG ASardr et

g HIET i 99l B

WA ITUANT G807 HOeAT W 6.

ARAT™ A GWIOT ¥eed IraX feuer forar.
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[4269]-109
F.Y.B. Com. Examination - 2012
BANKING AND FINANCE
(Fundamentals of Banking)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define Bank. Explain Evolution of Banking in India. [16]
Q.2) Explain Methods of Remittance. [16]
OR
Q.2) Explain Functional Classification of Banks. [16]
Q.3) (A) Explain Procedure of Opening Accounts. [08]

(B) Explain Balance Sheet of Commercial Bank. [08]
OR
Q.3) (A) Explain Kinds of Endorsement. [08]
(B) Explain Types of Cheques. [08]
Q.4) What is Credit Creation ? Explain the Multiple Credit Creation
by Commercial Banks and its limitations. [16]
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Q.5) Write short notes : (Any Two)

(a)
(b)
(©)
(d)

Bank Liquidity and Profitability
Importance of Technology in Banking
Primary Functions of Banking

KYC Norms and No Frill Account
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AST FATAL
% SIEEE I et
([@F TAEETE FAd)
(A 300¢ GeA)
% : 3 dW] [TFUT 0T 80
W :
(1) qd g97 TSI MITF 3TTE,
2) ITEIESIT 3P goArd ol o7 FOffIar.
(3) HIWNIET Hqes FHSil gITqfIwT GETr.

7.1) ‘o’ AT AT o FIHETAN Ichidl WA TS . [16]
7.2) 99 UofugTeT dsdl Ay I HA [16]
EE1]

9.2) SHE FEMER TAEWT AMay T FH. [16]
7.3) (37) ok T IUSTETHT HEUSAl ARG TS FHA [08]

(F) WA dhaT dres Wiy T 6. [08]
EE1]

9.3) (31) USHAT THR T H. [08]

(F) YARITE PR T B [08]
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9.4) gafatidal ot s ¢ @t St aEivTd qatarHd e i
T AIET W . [16]

7.5) feur T« (Fuadt g9) [16]
(37) AT WEAT T ATHAIEAT

() % IIEETAIA SERICIG R FSS

(F) THMET YTATHE B

(3) Ued URTY THIOTP T HddeR |4
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[4269]-110
F. Y. B. Com. Examination - 2012
MANAGERIAL ECONOMICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Explain characteristics and scope of Managerial Economics. [16]

Q.2) What is Elasticity of Demand ? Explain the types of Elasticity of

Demand. [16]
OR
Q.2) What are MNCs ? Explain the role played by MNCs in the
Development of Indian Economy. [16]
Q.3) (A) What is Income Elasticity of Demand ? [08]
(B) What are Exceptions to the Law of Demand ? [08]
OR
Q.3) (A) Explain Diversification Decision for Investment. [08]

(B) Explain Concept of Average Rate of Returns to Investment. [08]
Q.4) What is Cost-Benefit Analysis ? Explain steps in Cost-Benefit Analysis. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Concept of T.C. and M.C.
(b) Mergers
(c) Investment for Replacement

(d) Profit Maximization Objective of the Firm
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qAAT
(1) @F g97 TSI ATTTF 3E.
(2) IEtESlaT 3 goard Ul OT FOffIar.
(3) SMITF fad FaE SMHAT FIal.
(4) HEHIEST o5 FHSit gIAqfIET GET.
7.1) TRAYHE RfETE IR T O W w6 [16]
9.2) AW Jdrashdl Bos B ¢ "Nl ddiasdd YR T
. [16]
T
7.2) SMAWET FaqT ST BN ¥ 7 YR T e
MMAWET I TR TG W B, [16]
2.3) (31) AWMU IO AAraHdl B/ BT 9 [08]
(F) FEier M sgars foE [08]
T
9.3) (31 TAUE WG fafqetsomEr e me F5. [08]
() I[AIUIHET FIEE TRATET I T FHA. [08]
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7.4) TA-ATH fI9ATor TR F ¢ TE-AT ey ueeT s 4. [16]

y.5) feur faar : (HIUEt &) [16]
(3N THOT A T GAN TA BT
(@) it
(F) TEAWGT JATTH

(F) ITNEEE HEOHE AR IEE
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[4269]-111
F. Y. B. Com. Examination - 2012

OFFICE MANAGEMENT AND SECRETARIAL PROCEDURES
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain in details significance and barriers on Effective
Communication. [16]

Q.2) State the importance of Office Layout. Explain in details the Principles

of Office Layout. [16]
OR
Q.2) Define Planning of Office Work. State objectives and types of Planning
of Office Work. [16]
Q.3) (A) State objectives of Maintaing Records. [08]
(B) Explain Methods of Training. [08]
OR
Q.3) (A) Explain various Methods of Indexing. [08]
(B) Explain Modern Appliances used in Office. [08]

Q.4) State Essentials of Valid Meeting. Explain various types of Meeting. [16]
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Q.5) Write short notes : (Any Two) [16]
(@ Advantages of Office Forms
(b) Functions of Office Manager
(c) Types of Office Manual
(d) Advantages of Office Automation
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J{AAT

a

(1) @& F97 FISHIOT TT9qF 37T8.
(2) ITAIBSIT 37F FeArd gl 0T FIfaar.
(3) TIUIGTSt ez TSI FAqlAET ETal,

9.1) HemEeEd Uihdd AEd ST ST EATd [T o fataer srgeres
T B [16]

9.2) BT [WAT HE FE. B WEa ad faiga w1 [16]

Thar
9.2) FEAT FEH-HASEATET AT TEM. AT BE-ASa Sree
T g T, [16]
9.3) (37) TWY IARUATA! 3fEse HE. [08]
()  FRIFOT=T Igdt TS H. [08]
Thar
9.3) (31) YAIwwTT [Afqg dEdl W & [08]

o

(F) FE@IT B JAMEYHE T IOET JAd d T F. [08]

Al

9.4) IU GEHST JEEF qEl JEA G THER W B [16]
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(37) FEEAE YIAE B

(F) FEICAT TR H

(F) FA@IE AMSA [RADT THR
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[4269]-112
F. Y. B. Com. Examination - 2012
ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define Concept of E-commerce. Explain features and functions of

it. [16]
Q.2) Define Internet. Explain its role in E-commerce. Explain common

way to connect Internet. [16]

OR

Q.2) Explain problems and opportunities in E-commerce in India. [16]
Q.3) (A) Explain Types of E-commerce with suitable example. [08]

(B) Define E-finance. Explain Area of E-finance. [08]

OR
Q.3) (A) (&) Explain in brief Internet Relay Chat. [08]
(b) What is the Procedure of Opening E-mail Account on
Internet ?

(B) Distinguish Market Place V/s. Market Space. [08]
Q.4) Define Electronic Market. Explain merits and demerits of Electronic

Market. [16]
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Q.5) Write short notes : (Any Two) [16]

(a) E-distributor

(b) On-line Share Dealing
(c) Digital Signature

(d) E-shoping
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Total No. of Questions : 5] [Total No. of Printed Pages : 2

[4269]-113

F. Y. B. Com. Examination - 2012
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define Consumer. State the scope and objectives of Consumer
Movement. [16]

Q.2) Describe the background and need of Consumer Protection Act, 1986. [16]
OR

Q.2) Define Business Ethics and explain various responsibilities of
Business towards Consumers. [16]

Q.3) (A) Explain the features of Standards of Weights and Measures Act,
1976. [08]

(B) Explain the term - ‘Consumerism in India’. [08]
OR

Q.3) (A) Explain the Provisions of Standards of Weights and Measures
Act, 1976. [08]

(B) Write a note on Challenges before Voluntary Consumer
Organisations. [08]

Q.4) Explain the scope and features of Right to Information Act, 2005. [16]
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Q.5) Write short notes : (Any Two)

@)
(b)
(©)
(d)

Limitations of Voluntary Consumer Organisation
Problems of Rural Consumers
Rights of Consumers regarding Weights and Measures

Responsibilities of Consumers

[4269]-113/2
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Total No. of Questions : 5] [Total No. of Printed Pages : 2
[4269]-113
ASE TR
YEF HRI FNT AEHE At
(AT R00¢ TaA)
3% : 3 d™] [gspUr T[0T ¢ 80
AT
(1) @& F97 FISHIOT TT9qF 37T8.
(2) ISAIBSIT 37 FeArd gl 0T FIfaar.
(3) UGSt ez TSI FAqlAET UETal,

g.1) TEHEl TEAT ANA UEH dodesdl Awl g Ieed W HU. [16]
9.2) UEH HWIT FUET, LT URAA! T JAWHAT T H. [16]
T

9.2) SEEMES ATHeE TSl B o T TTHETAT ATEHEad! IO
Tafay SEEE=T T H. [16]

9.3) (37) OoEAET URATT HESET, QLETT IR Ty . [08]
(F) ‘“URATAIA ATEHAE - HheddT T B, [08]

e

9.3) (31) TAAAT GRATT HEET, 190§ AUA qegard A ao= 0. [08]
(T) feur @ . wWIEEr UEe SREERE TR [08]

9.4) wAfEdrar fuUeR ST, 004 M@l T AR W & [16]
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9.5) feur f@er : (HUEt §9) [16]
(37) ARG UTEh TR HIAST

() YT YTESHAT TR

(F) TSATIESHAIT ATEHA &I

() UTERT HaA / FAEEN
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[4269]-114
F. Y. B. Com. Examination - 2012
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain in detail the Qualities of a Successful Entrepreneur. [16]

Q.2) What is Inflation ? Describe the causes and remedies of Inflation. [16]

OR
Q.2) Define the term Business Environment. Explain in detail the types
of Business Environment. [16]
Q.3) (A) Write a detail note on Dynamics of Motivation. [08]
(B) Explain the role of Entrepreneurship. [08]
OR
Q.3) (A) Write a detail note on Maharashtra Centre for Entrepreneurship
Development (MCED). [08]
(B) Write a detail note on National Institute for Small Industry
Extension Training (NISIET). [08]
Q.4) Describe Entrepreneurial Career of Dr. Nilkanth Kalyani. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) MITCON
(b) Importance of Entrepreneurship
(c) Entrepreneur and Non-entrepreneur

(d) Industrialisation and Economic Development
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[4269]-114
AST TR
3% : 3 d9] [gspUr qor ;80
AT
(1) qF g7 FISHI0 3TT9TF T8,
(2) 3FAtESIT 3iF geATd gui O FIfaar.
(3) FUraidr qes A Foa-UlAdr ggrar,
7.1) TIUET IASHRE [OT FRAW@O I B [16]
9.2) IATdIE TN B ¢ TATdISET BROT IATOT IUTAISTAT T aaor
qUI [16]
e
9.2) ATIAUF GUTEO] IT Hoil AT AT, ATIENUF  qITaOm GhR
Tl faerg . [16]
7.3) (31) WOMY TS TR {igkR g ferar [08]
(F) IASHAAT HABT T F. [08]
e

9.3) (31) WHERTE IAISThdT & ®% (MCED) ImaR ey &g forer. [08]

() T TSI faR aRier @R (NISIET) amax afaawdol

2o fotar. [08]
9.4) Ef. TTHSHIBET AT IASTHIT FRBT qUiH H. [16]
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¥.5) feur fermr . (For@ETd S9) [16]
(31) fwesta (MITCON)

(F) ITSHdI HeEd
(F) STSTH 3MUT AR IS e Blh
() Mrenfrsieer sty nfde  fawry
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[4269]-115
F. Y. B. Com. Examination - 2012
INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain the Fundamental Principles of Life Insurance. [16]

Q.2) Explain advantages and limitations of various Modes of Transport. [16]

OR
Q.2) Explain State and Central Government Policies regarding Travel and
Tourism. [16]
Q.3) (A) Explain Career Options in Insurance Business. [08]
(B) Explain need and importance of Transport. [08]
OR
Q.3) (A) Explain the role of Insurance in Logistic. [08]
(B) Explain the role of Tourism in Economic Development. [08]
Q.4) Explain the importance of Tourism Promotion in India. [16]
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Q.5) Write short notes : (Any Two)

(a)
(b)
(©)
(d)

Importance of Transport
Scope of Tourism
Working of Life Insurance Corporation

Meaning and Scope of General Insurance
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[4269]-115
AUSt HAE
fawr snior aEdw
(AT R00¢ HaH)
9% : 3 dW] [T T[T : 80
qAAT
(1) @F g97 TSI ATTTF 3E.
(2) IEtESlaT 3 goard Ul OT FOIfIar.
7.1) I qaad e F [16]
¥.2) dAEIHIT [Oag YHERE  [O-AAET W H [16]

e
7.2) YO 9 UdcATHT FSYidid Tod T BE WIhRAl €Re e &Y. [16]

7.3) (31 T IaEEdid ®Ries FUr TS & [08]

() dTEIHE TS T AEE W B [08]
T

7.3) (37) dfiRedAed [qEmal gHs T F. [08]

() INUF TaHEE qheATdt YiHST T H. [08]

7.4) ARAWIA UdeAded AEd W [16]
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7.5) qiswmd four faEr o (FuraErdt  9) [16]

(37 dAEHE AT

(¥) g¥cATEr Tl

(F) JNICAAT ATTHSHA  HTABS

() Tagrer fgEmr 1 T arar
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Total No. of Questions : 5] [Total No. of Printed Pages : 2
[4269]-116
F. Y. B. Com. Examination - 2012
MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Marketing Organisation ? Explain various Forms of Marketing

Organisation. [16]
Q.2) Explain the types of Distribution Channels alongwith their relative
merits and demerits. [16]
OR
Q.2) Discuss the nature and scope of Marketing. State its importance in
Developing Economy. [16]
Q.3) (A) State the Utility of Salesmanship. [08]
(B) Describe various Elements of Marketing Communication. [08]
OR
Q.3) (A) State the Difficulties of Rural Marketing. [08]
(B) State various types of Market Segmentation. [08]
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Q.4) Discuss various Sales Promotion Techniques used for Consumers by

a Marketing Company.

Q.5) Write notes : (Any Two)

@)
(b)
()
(d)

Types of Packaging
Features of Marketing Information System
Factors Influencing Pricing Decision

Advertising Budget

[4269]-116/2
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[4269]-116
St T
9% : 3 am] [TspUT T[0T ¢ 80
T
(1) T@T 997 FISHIUT 3MT9TF 38,
(2) ISAIBSIT 37F FeArd qol 0T FIfaara.
(3) TIWI@IST ez TSI FITUrAHT TgTal,

9.1) fuoE dued =/oN w0 ¢ fquoe deead fataer g @ & [16]
9.2) TIdor URgA YR AT H9iUd BES T HAUedE T B [16]
E]

9.2) fauomm @S9 g @t e 9=l w0 AT e geiiaeie
rfaRAYE HET WL [16]

9.3) (37) fashasc=t SuAiRET |, [08]
(@) fauom dgeaear= fafaer @ew fae & [08]

E]

9.3) (37) ITHIOT IO S  STS9O | [08]
(F) TORYS YHARNBOMT TIIaer Yehe JA. [08]

9.4) IO SRS ITEHETS! et o fafaer et dardr =
. [16]
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9.5) feur e - (FUrEEt )
(37) Haea YR

(=)
(%)
(®)

frque gAER g9 dfdrer

o o \l’

[PHdT THIITIY THTT CTHUIMR YUCHh

o .
STTEd AITSTIAh
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[4269]-117
F. Y. B. Com. Examination - 2012
FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define the term Proprietor. Explain in detail the advantages and
disadvantages of Proprietory Business. [16]

Q.2) Explain the Challenges before the Public Sector in the Context of

Indian Economy. [16]

OR
Q.2) Explain in detail the recent trends in Banking Sector. [16]
Q.3) (A) Describe the role of Trade, Commerce and Industry. [08]
(B) Explain the functions of SEBI. [08]

OR
Q.3) (A) Role of Non-government Organisations [08]
(B) Explain the Role of NSDL. [08]
Q.4) Explain the functions of Indian Merchants Chamber, Mumbai. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Features of Commodity Exchanges
(b) Features of Trade Associations
(c) Procedure followed in Commodity Exchanges

(d) Importance of Logistics
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[4269]-117
AS TR
9% : 3 d9] [CFT T[T : 80
z;raw by

(1) @& g97 FISAv 3Ma9qH 37,
(2) IEtESlaT 3 goard QU OT FOIfIar.

7.1) TS AN A7 Gdl ARAT T8l bl SR ad@ETd HESE SA1T
e AfaT e & [16]

¥.2) WA AT WSHIA AEAHE AR @M W FW. [16]

EE1
7.2) ofRT ST Ad gaiE ARaT TS &L [16]
7.3) (3) MR, VT IOT ITET JreAT rAHid qo H [08]
() T FE T FA [08]
EE1
9.3) (31 TR s SR HHST [08]
(¥) TA.GEILTAA GHSBT T H4. [08]
9.4) O AECH TR, Hug AT WRE FE W B [16]
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9.5) feur feer : (o ) [16]
(N aw fatwmEeEr afres
(F) U At dfred
(%) T TaHFEEE SRS
(3) =Ew=da (Logistics) A&
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[4269]-118
F. Y. B. Com. Examination - 2012
PERSIAN GENERAL
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define and illustrate any ten of the following : [20]

G

1z Jir (M)
Eisiy ()

Ky (@

QR a2 (1)
JJu@‘? (2)
Fad M)

FUFE (@

S uH 09
& Ao
JE e (1)

Sk JE ()
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Q.2) Define any two of the following : [10]

L))
JF ()
ud (1)
S (™)
Q.3) (A) Reproduce in your own words of any one of the following . [10]

ST o )
apsig = > (1)
"
(fw Gl e (F)
(B) Write any one of the following : [10]
(1) Style of Ameer Khusrau

(2) Style of Ghalib
(3) Life sketch of Saadi Shirazi

Q.4) (A) Explain any five couplets of the following into English, Urdu, [10]
Marathi or Persian :

ST L Sa ¥ 0 (1)
ST 012 L
& s 1§ 2hys 6 Fo
iS psed $pan S S
b F €T A F L8 ()
it o 22 sl Ju
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djufglz,@?&;)ggw ("
S U o 8 e s g
»f’:«lﬁé"’?;u%ﬁg’/ (8)
T B B Fnil
e o gt (D)
wlﬁ(’T:JJ(’lzfd
o Gl 22 G ()
wb(t;é////u /

(B) Translate any two of the following passage into [12]
English, Urdu, Marathi or Persian :

' ST Il oy S s uT/.(K‘/‘ iz (1)
o A s ol 7 e LT s JW g
GO Fo 6 s a0 Sl ot
w‘,éu»ug;ﬁugﬂdgiﬂ_;/
sl 3 ousT e o Sas OQ{L)J/LJY ~b
S A1F 8 F R

Mxﬁ?./g/rfwjﬁm’guggt‘ﬁu )
Ao, T UT P S S6 605 ity s
L E /&2//6..5/1:)/.6055&54,@
w)(u‘/}&%fbﬁf:ﬂ,g)é-)/;ﬂi
-c))/‘jy/)))]d(jg)
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quﬁJ%J)lgd}f)l)(g?de
2T v o A 2 ad e B 1 ool
ng,gc)bq/)f,g’/?ya:/("t)uﬁ
ESH s bk g 80 b el e yai
-~ A/ u:'G‘

IBYyrd u’ﬁv’ 73 ;&‘b"f/ G6 Yl S &l aoasT
< el @“ el (0 e L sl e s 2ol
2~k -l (33/ 3] d&?{’ r‘:( pord ,ﬂ. 29 o)/
o L Gl S - d}/ Y Jffi

Y o,g/. et 2/

(C) Translate the following unseen English passage into Persian,

Urdu or Marathi :

(")

(")

The real magic of India is rarely found in the big cosmopolitan
cities visited by the tourists. It is performed mostly in the back
country for the native population. Magic of this type is but
seldom seen by western eyes and one must probe deep into out of

the way places to find it.
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[4269]-119
F. Y. B. Com. Examination - 2012
ARABIC GENERAL - |
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Q.1) Translate into English or Urdu or Marathi any two of the following [20]
passages :

«.»Jﬂ usy Yaf <3 (ar)

S w3 ~

Wd%f°hﬂ‘ué3“
YL A 31
Ligh <l '-uﬂ‘d-'csﬂm
Gb3 83000 s
- SKA Gy sl 5
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[4269]-119

)5 85205 L33 LAl i3 o LA 513
Gl s 1B Snd %5 il ol
Gl 510" Aoy ala ) Gall Gulaf
goill (& 2l OLRl "l 515 o Glal
"l ol I8 2T e)ld b Gl K i
Ely Ja” AL sypais b Lad LEIS 4151 3
S 3 W5 ol JIES  SLANT 13b e 1502
Llss u-'-“éu*“-‘-'*" Siass “4s DA L o
333 Gl 558 o das 0 4 155

5 I3A K gl 3 Ls Ssi il gk
Go Gy 855 A% 5 dlakis gay e 1L LK
e wmm.ui;ouSJ!uL@AfaJ\
GL;L@,JL‘@..AJI”" - 3aall J3ling 4
B3 - JTIBLE o 5503 585 I 588 1l
5 s glyy 4158 Jss J25 o8 call s
Sely3 Lass ”a;;uuum;z_g;.;n
Loy giall p5als . Lays d5530 5 grall 1G5
Se Laally J250 5a - Gl Wl dn

Gl e S s GhL G sl
2

\

()

(®)

Contd.



Q.2) (A) Translate into Arabic any five of the following sentences :

(a)
(b)
(c)
(d)
(e)
()
(g)

(B) Translate the following sentenses into English : (Any Five)

There 1s a students in the class-room.
The new teacher 1s a tall man.

On the window there is a curtain.
No, his college is closed.

In the fridge, there is an apple.

This bus 1s coming from the college.

The student 1s going to the school.

- gEa ot (I Sall 34
Bl NGl Al el
¢ Jaill ol G5 &5

G55 05 ke Gulls
- Y5kda Gupadl s

1

Jix golia 43

Q.3) Define and illustrate of the following :

[4269]-119

slagll G g5a
Tl b g gl

(V)
(v)
()
(¢)
(o)
(1)
(V)
(A)

(\)
(v)

[10]

[10]

[10]
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Q.4) (A) Summerise any two of the following :

(B) Write in Arabic any two of the following :
el ll LI &8558
ad 53
PR (M
RIS

(C) Write a letter in Arabic to the Company Manager :

(V)
(v)
(¥)
(¢)

(V)
()
(v)
(¢)

LR e ) Gl AL
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[4269]-120
F. Y. B. Com. Examination - 2012
ADDITIONAL ENGLISH
(New 2008 Pattern)

Text Prescribed : The Joy of Reading Literature

Time : 3 Hours] [Max. Marks : 80

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read the paragraph carefully and find the single words for each
of the phrases given below : (Any Four) [04]

He had left his village without any previous thought or plan.
If he had continued there he would have carried on the work
of his forefathers - namely, tilling the land, living, marrying and
ripening in his cornfield and ancestral home. But that was not
to be. He had to leave home without telling anyone, and he
could not rest till he left it behind a couple of hundred miles.

(a)
(b)
(©)
(d)
(€)

[4269]-120

happening or existing before the one mentioned
relatives in the far past

making fully grown

belonging to one’s ancestors

two things related in some way

1 P.T.O.



(B) Fill in the blanks with correct form of verb given in the brackets :

(Any Two)
(@ When the old lady (return) to her flat, she
saw at once that burglars (break) in during

(b)

(©)

(C) Give
(a)
(b)
()
(d)
(e)

(D) Give

her absence.

But Gangu never (greet) me like this. Probably
he (expect) me to bow to him.

The place was (desert) by the time the
astrologer (pick) up his articles and put them
into his bag.

antonyms of the following words : (Any Four)
absence

inferior

failure

remarkable

meaningful

the meanings of the following words and use them in

sentences of your own : (Any Four)

(a)
(b)
(©)
(d)
(€)

[4269]-120

gratified
outcome
deny

enhance

moral support
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Q.2) Answer any one of the following in detail : [16]
(@) Attempt a character sketch of Gangu.

(b) Describe the place where the astrologer set up his daily business.

Q.3) Answer any one of the following in detail : [16]

(@) What are the main ideas expressed by the poet in ‘Stopping by
Woods on a Snowy Evening’ ?

(b) Discuss the significance of the title of the poem ‘I, Too, Sing
America’.

Q.4) Answer any two of the following in short : [16]
(@) How do persons in the field of advertising earn their livelihood ?
(b) Describe Pandit Nehru’s vision of India of the future.
(c) How had the Indian Education System trained Gopal ?
(d) Describe the reaction of Jim on seeing Della with short hair.
Q.5) Answer any two of the following in short : [16]
(@) Where are the bangle sellers carrying their wares ?

(b) Comment on the rhyme scheme of the poem *‘Sonnet 29°.

(c) Write a brief note on Wordsworth’s attitude towards nature in
“The World is Too much with US’.

(d) How does the squirrel justify her place in the world ?
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[4269]-121
qUH q¥ qIUST 9t - 2012
TR T IUGISIT ATt
(AdT R00¢ Ted)
AVA! TR ¢ (3) NTHFAT
(x) FaETRF #AST
9% : 3 ] [gspoT TOT ;70
J{AAT

a

(1) §F 997 HISOT 39T H 3TE.
(2) SFAIESIT 3% geara ol o Feifara.

7.1) TS HIoATEl Tht fauamay feer @@ @ (Moo swigdd)  [10]
(1) SYUEET : TH HHIAS THE
(2) wETER M7 YT
(3) Ul HWOT . HAE! RS

(4) FUMESBAT MA@ (AT
9.2) TCicTdd! BTl BT Jeial IuX GAR I eEid (ol [10]

(1) MTHART B/ 9

(2) TEHIA gUdE UTd Sfad TSI A1 et
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(3) FAIA MMEEHT TSAT FAT S AT JMHAANATT HIVTRIOTAT FAGAT
ISl 3Tl 3R 9

(4) T BRIl TSt BIOTET TMET AT Bl 9
(5) TEAUT TEMUT AT HIOHOW U5 HEIIe M@d

(6) IBIA HIGY JT FTHAT DHeledT HIVTETE! I Faaderal Aid {oal.

(7) A 3rFEe AT JTATOE AT 16T U H1T ATHae ¢

(8) ‘SN USla™ AT Uil AT o7 3 9

C o L e o o o
(9) SEEE [ IET TENE PFOMET JFhl Al TTd@ ¢

(10) =f. 375 HA™ YW A@EIOMIRHAY B0 W I3[ ¢

(11) F™Ea T [TERSAr A1d FO.

(12) 9d™ YaR ITATAY HBIVTHIOTE BRI ©

(13) WETEAT HAS MUET ARATT HOAT HREATT & @l 2

9.3) WAIAUD! HIOETET ThT F9AT IR I~ eFid (o7&l [05]

(1) Higo SIRCeTHY I STTTUSHT BITHITET TSAT BedT ?

(2) FHEA IAT ‘ThT BTl I T HOI 9

9.4) Tl HIOETET THT Jea ST SISt ssia foer - [10]

(1) ‘TH gredl MRS JAhd Ales & 3a9 aadel i’ #
frerme ‘Tptoa aemr, fFftad s’ a7 98T TR W .

(2) SI. TSAT JIRHA U7 ST SAETg [T THAT HIOTAT AR
IR ¥FR Jd @6 2
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9.5) TCicds! HIUATE gt I f@@r [20]
(1) =T BN W I TIgHTE e G g A AN R ]

EOIICOIECEE IR IR

(2) W I AfH AT, AT AR a7 dHd WA A4+ TARA
A AT HTAIHS! TOIH JIR B

(3) HEMTaTEAT=AT 0TF  [THRTEEST Yo HIUTHRMET TRET HIadr

I IR SR ineesa &
(4) TR AEN ARG AEfqaeaTET L. ga 3MTE. et
ST H.
9.6) WIAU®! HIUETEN THT FA 3T fo1eT - [10]

(1) AT IREYT A T8 0T “Ue hiFgeT 4ed I SI0Th
e}
ITe0T BETHATSY IThNH AT

SIEEE R IRl T
(2) URIAUD! FIUTATE! THT IR TAATIAAG! A TR 6B

(i)  300% 3G TN U TlcIthecy
TS

& [V o

(i) 9T TRET FAEEST bl SEd

9.7) TTCle AT U qaiaisl RIS o 3aTard ¥HY® ¥ a1 : [05]

TIBIMEl TIHRIT TTHID ITTIBITAT/ AT HEBR AT ST It
S U TN ANRE HH HUS AN, ABRS HH S

TERMEG bAd Ad. (s doa [AfUHSs TqeATIHT TR
T qud [ATOT Bat, ST UeTiHed Jad Ixil Blels BIgTETe]
Y T THAT. TTHeb AT T J&T BH HIH BT & AT qrawdr
FHIT . THRT B, AT AT JAdAT ANGAr 300, TaT HEST BT
T STHETT ITTOTOATRTTE AT J9R $R0T, TIBRI &R0T T R st
AT AT MAAYOT T TSR ATTAT I~ B0, STTAT BT 3R,
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M7 IS AT T TR Gefidicd  AdHgesaT Juf, STd=T
(R doedT, #seh 3. AUl AexdaT=al SN ST qusd a0
JTMYHT BTH AIBIME AMATHTRYT FTAAID TTHETAT BT AR,
(A|HSAT - f04)

e
My neighbour’s wife is a clever woman. She can easily afford servents
but she does not keep any. She very often stand at the gate of her
house. When she sees some neighbour’s going to the shops, she call
out, “Milind, will you get me some potatoes ?” or “Radha, | haven’t
got any onions, buy some for me and some chillies t0o.” She smiles
sweetly at them and thanks them profusely when they bring her what

she want. The only time she leaves the house is to see a film or to
go on a shopping spree.

We can only wonder weather she does any cooking at all. It seems
as if she gets her husband to do it, poor man !
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[4269]-122

F. Y. B. Com. Examination - 2012
SANSKRIT
( STHTHTA )
(New 2008 Pattern)

9% : 3 ] [TERUT TUT : 60

Q.1) Translate into English or Marathi any two from Section ‘A’ and any

two from Section ‘B’ from the following passages : [20]
7.1) st e T T IWEdiE (W) Foerdt et st e
R AT & [20]

SECTION - A (fmr - 39)
(1) o 9 To, SmeEEmed J

gl A g |

T T A T AT AAITCHISTHARAT
A FINEN TERSTIETRA: |
FT Id BRUTHET SUTad dTidetie
T T MREHATEr SeER: R |

(2) O T T AEYA: WAARATSI A BIed AIHAT {63t | ST
T A TTAg ARSI A A0 FHE: | 31 & geear
AT fawooraEAT grate | At TR, Fara AT raaT THET: |

JaTaT S aawse wEa’ g |
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(3) ‘Al TS @M ATISHHEGHA AN 7T FTGEIATT: 3TRA |
Y, FNHATY THATIRAGH WA (TATTT T TIATAT FHIFETAT
AT WfAIY 33T | St fSRT S mt SRR e AT
HIHT AT AT RG-S A Ao T8t o o | et
TAROT ATTFAAHI ST TGS Hardi gt A 98

qH A |
SECTION - B (fawmr - @)
(1) Uag @94 o1 THIESEgad |
e A AIHT T5A AEq |
U OGS AR HEAH |
wagaAHed fagd WA |l

(2) Y gHwT 7 faud & 5 |9 aqaeneee |
e AT fouem g iy Sta= faemead Tz
T Eaeal HO1 e \Ra |

AosrTEAal JaT Al [ hrygaar |

(3) T FHIYPAIIN jblcbumwlw@mcﬁ
e WEE@ETSABA 0 Fard o |
qis: HAlE THATH Tad R Hieg A
g & & dUIsiU FTRRshls J9r omaia

Q.2) Explain with reference to the context any one from Section ‘A’ and

any one from Section ‘B’ : [10]
7.2) 37 [qWNdial ol T T ‘9’ [IUEdidl Hiotdarat T
TSUTHE TSR] B [10]

SECTION - A (fawmr - 31)
(1) @R = gueonsfigsad |
(2) UFART TONYG  ShRATdTATEE |

SECTION - B (fwmr - %)
(1) e O THAT FRGHATNOT |

(2) T TUEEANNSE: 9q T FOTES: |
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Q.3)

Q.4)

¥.4)

Write a long answer of any one of the following from Section ‘A’
and any one from Section ‘B’ : [20]

SECTION - A (fwmr - a1)
(1) Explain fully the story of ‘Fesfrafion’,

(2) Critically appreciate the lesson “TToTi-erTieresR:’.

P o S 5 o
MUMARIITRIET HISTH [dddh I{UYT bl

SECTION - B (fwmr - %)

(1) Write the summary of ‘TSRO’

FOTIGTAYHIOTET TR e,
(2) Explain the advise of srgmwramd described in ArEAFIR.

ARG ey SUae ¥ 6.

Write short note on any one from Section ‘A’ and any one from

Section ‘B’ : [10]
3 TN FIUTTET THTaX T ‘T TNl HIoTTel Thrar fadas
CAERTCEAR [10]

SECTION - A (T - 39)
(1) Kavi Kalidas.

o o
SACECAIGEIE I

(2) AR
SECTION - B (fvmtr - @)
(1) SHET

(2) Character sketch of ‘RtsrmaT.

[4269]-122/3



Seat

No.
Total No. of Questions : 5] [Total No. of Printed Pages : 4
[4269]-123
qUH T qIUT TdHel T - 2012
fe=it

(A j00¢ TeA)

Hg : 3 99| [Tlﬁ'eﬁ : 70
TS (1) FREEERT ;- TErEaE

(2) GIETEIRT : FTHGTE

Y

(1) ¥t go7 3ifaard & |
(2) g T ford 3i weA # gonie F

7.1) (31N T=laRad # ¥ 6=t S 9ot & I g4 | fare [06]
(1) T T H 9g B g ¢
(2) AN A U & AR HT O T WER AT 9

(3) doWEd W FEWT B ARET S |

(4) TEE AR Hercd® aRE HT qoiT B a1 | B & ¢
(3m) Toeferea & o fFt &t weAt @ SEY d@gw # fard [06]
(1) fg e FomaiEt ¥ BE-7 @G| A6 § 9
(2) ‘S-S BT T TH HAAT & ATGH ¥ FHI (G99 qAH
ST ® Thd FAART W YHRT SEd &9
(3) ‘TeURMT FHAar H BT ’@T 7 IE Bl [AAMTHT Bl (A
gt H o TRAT B9

(4) ‘gBY B, TBUTd FHA’ HiGAT BT AET e FHiT |
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7.2) (31) TAGRad # & 6=t 31 @A & quaH e i o [06]
(1) “F AC-A%d 990, i U Td H US 2 | U # waT
G I, THT &% ga 6 # & Sear g 17
(2) “3MEAT W WS A FASN B, W ITDBI HRA T 8, ITH
FH TET 8, ChH & | ST 98 FAT-IedT-a=Tdl 2, I8 ol
& A 17
(3) “Af qH A OiEm I & Tl AR ? AT FAAT B
ToTIERTY © ST T&f, TTea TI90 A, AT A awant et |7
(3m) Trtafea # @ fF= o sraawn ®F FEsy =T sty o [06]

(1) “SoT & Jar I9ET a7 |

@8 SIAl THHT Jqraq g+ |

¥E A0 a€ BT T

TR W E-Ear $s o !
(2) “FUT TR H ¥ Sid H

fplaq =&t wovia 4

TEY 9y WX S e W' o WE ' W §E

EE A6ET A& 17

(3) “Fpeg & AT eLem A B oW

T fopdY @ #T udr & &R

Al HsRlad,

(ad ([aVMaN
AlH Al sl

AN 9EA [T & 1”7

9.3) feuoit faRag .
(31 FHAT # Saud | [04]
AT
(37) ‘U BT S’ BEFET BT T [04]
(3 ‘AR W B AEAT | [04]
AT
(3M) FTHIEA! BT TUEE | [04]
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(3)

9.4) (37)

(3m)

[4269]-123

Ffaiaa # ¥ =t B8 WA & I Uh-Us arag # Ty ;. [06]
(1) TRT & 99 BT ATH FIT AT ?

(2) T 7 dF FUC HE T g ™ I 9

(3) dwmed & fAATr # fa a9 @ O ¢

(4) TEH & T H BEA-¥ JEI BT G TH AT AT ?
(5) ‘Tt & TH A FEAT B @W\D B AN (AT |

(6) T ATUSHIROT T $ AR WF IR AT fhas o
T9q g ' 9

(7) wtg T hae @ 9de =@ o6 ' 9

(8) & FHMI Al Hf HH WIAT TAT&dT & 9

(9) ‘TEIREr Haar ® TH & T Far & haAr a1 9

(10) “Ud HT TAW Hadm H AR T WT FT IS W & 2

TefaRag & @ Tt 0% 99 &1 WY AR ST [06]

(1) | / REr S, @Er §9Y TR, @WEA § T, S
TR, SIeNid ® YO S B I U8 & ol

amaeT g feregar / fosmar 20
(2) Hfqar B Wi, R, T § \ied S Teie,

555, TH.SI. TS, g B @AMl & TF $ N H IBATS
o7 e 2 |

o [aNEaN [a¥aN

AT (@I 3TIET e &1 F9AT R S [06]

(1) R & qEr T eI & e |
(2) Helaae™ § Hu= SISl Fauiiar &7 ardieag |
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(3) T=fafea & 4 %=t o8 ot @t g5 s faw [06]
(1) 3 F AfAT 3T B
(2) 394 @I JUA! JMHEAT Bl |
(3) Wk H 9 Wi @it B |
(4) [ET F T@G ¥ A ™ ¥ |
(5) TH TH H IU W< BT 2|
(6) Tt aimwg fasg # aFEr 2 |
(7) W) P e gk wdr ¥
(8) #Y H TWH I3 |

7.5) (31 fr=fafea # O et 9 ot & oy oss faaa @ [07)

(1) Action
(2) Capital
(3) Cost
(4) Discount
(5) Gross
(6) Import
(7) Loss
(8) Offer
(9) Recovery
(10) Tender

(am fr=fafaa & 9 Tt o o @1 swooar-foem @i 0 [07]

(1) FET Jeq 3= TER |

(2) TT w9 oA g wE |

(3) Toar tar @5+ 2 |
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F. Y. B. Com. Examination - 2012
GUJARATI
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks :

12

80

W) Amidl S5 wa 2 [Quy u [Roiy quil -
(1) 2uxl Rewusl
) dil Add udes 2w

NN

(
(3)  mgmeL ¢ el qu
(¥) xR oMdl Bewd

W) 419 Ul As Ul Ul Gdr duil ¢

(1) [Bsd war-sad agldl.

)
) RBRsl cudlaldi Ao uad aHesd sdq

W.3) lAAmidl SIS ua 28 usd-dl AlAd G quil :
1) deuddl sl ueels
) derardl sl dlsdasy

) gsin vl ¢ (816 uaL i)
(1) - gu
() 550 27 siHuL QAL AM

[1€]

[1€]

[1€]

[0¢]

[4269]-124 1 P.T.O.



(o)  2seile @vll @ (5US umL is)
(1)
(

) ‘easiad w2 s@aryl s@dl dae

‘Aal adHl G st sfadl wowll

wu) (21) yaluz Aold quil : (s ua - w8 A-)
(1) R wo g oY @9 o3,
() ocuosdl udr, A tivell GR4.
(3) i 9 28 & A 2 YU 52 D 7
(6) adl dl siS g o oleacdl edl ?

(61) AU AUl dHIRL A el Asd Sl Ual dvil.

YU

(0) il sidodi donda ARslAs sidsHedl >ddd duR s
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F. Y. B. Com. Examination - 2012
SINDHI
(Arabic)
(New 2008 Pattern)
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20] -8 o> Lo Gligm @3 0 we ol wie —1 Jlgum

Jovs Jd L&)s/ o % g o sl -2
{19 ploal  ofy <29

o 03558 Ry b Hloy9

<

rond AT
o ) . A
glis jois /0_59/935 égsk £ /LQSJJ Mb
o 2l ue Ay b etlas e by 8
=: / (A.o ' ‘ .
& o5 e P2 A /L_»—N M:cﬁ-—af?
IR N T T

3 !
C o " o Sims -8

Cuﬂié FENEgE sims oF I D o
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12,

Ls.f\l\(‘:‘u\’u& s A3
g8 Ble Wime 2

| | | : ) \
L—}lgbbi?\gj_lgmc_'){é(ﬁw(-e (opad 2D 2 J}*’J

[10] ) ksl So B K a0 2
A 2 INIEARTS (7S]

| g lmo A S
fon? bs Gt /2 S22 2, 9T T e
W ULDU"%D (.’;J\ ‘3 v

iy cppRo T (o 925 w3 9%
2 Q/-(“IF - 3

; a v/
s _,43]\/0[ < _bg) T ﬁﬂo 2
(o & (T opofewn S0 55 T
“ Conloten (T 2l
[20] Lo olom oy 2 ws ob w:m - Zdlgw
g /ujlﬁw'j Hloz y
0 S L e WS éL—‘“‘* N VA
. 3AJ5 \,S/%/!‘a/ég@(s%_‘s/q’ 9
¢ o e Jia s L IS we FS 4
s s e G Ry Y @ &2 olo in® —4 Jigm
o sls 2 poppRT Sl
a9 g2
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SINDHI
(Devnagari)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
gara-1)  gfeatw @ e T g2 gae S Sew ot [20]

(1) SHHRT & HEST AMF gIm ?

(2) 39T FAEneT St Reem @@ dfaa afe ©f diEst 93 ©

(3) TEre afe 1T, Madd Wi & Higel 3nmag fear ¢

(4) U@OT YEE® © ANE Fergl Y HET g 9

(5) fuar S I|Ta O WART S "I W hiEsl AEun f$Ar 9

(6) Mid-day 3RAER | TTHIH S TH UFT ST TAR BT BT
R

(7) 3l S FAF IFT Hlegl AME H oI B O?

(8) dweT I R IMUT d WAl WRT FIST THHIEr ?

(9) THIH S AT S AT FHiES! g 9

(10) TRT FAAAONIT T Higg! A=Al ST ?

(11) BT JHEHRT W FY A @medt T st 9

(12) 3™MT ®Hic o &l At Hil 9=y ?

(13) T & 03, @Rt W B S TN | Hige A0 AT 9
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qATA-2)

HATA-3)

HdTeT-4)

et @t fe T W gEett o sEw ER R
50 @uSIa ® ferert - [10]

1)
(2)
3)

(4)

IS WTH TSil’ H BiggT AR UT HAT IMietT 9
I WG o W AERE A T BRI O9F 3 ¢

T S UA. IIREON SEEE S Hlegd | avp St Sae
FAT MR 9

I SR I @ T I @1 A7 Hiegl b &

el e ¢ et ¢

dfcafy @t fe v fafw gt 1 s awfteEr o 0 [20]

1)
(2)
3)
(4)

ATeE few TN M@ gE' drst ¢
AT S fopter T i,
#fE S S HHAT S ST SRl

TidreT St S St gHiA THEd #ii gg ¢

gfeai @i {67 T W fawaiw @ asqw fa . [30]

1)
(2)
3)
(4)

MY 3MHH H F HcATh

I S AT

fAfestt duieg 0]
FFIET ST STATT
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[4269]-126
F. Y. B.Com. Examination - 2012
FRENCH
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Use of dictionary is not allowed.

Q.1) Ecrivez un dialogue : [10]

(@ Mme. Julie Viau part en voyage d'affaires a Strasbourg. Elle
demande a sa secrétaire de réserver une chambre pour 6 nuits
a partir du 1 avril, a L'Hotel NEIGE. Elle veut une chambre pour
deux personnes. Rédigez ce dialogue de 7-8 répliques.

Oou

(b) Alice va habiter a Lyon pendant deux ans. Elle va dans une
banque pour ouvrir un compte. Son salaire va étre viré
directement sur ce compte. Ecrivez le dialogue avec I'employé.

Q.2) Ecrivez une lettre : [10]

(@ Vous écrivez une lettre au directeur de la société <<Bizitech>>
pour demander un emploi comme chef de personnel. Ecrivez vos
détails.

Oou

(b) Vous allez habiter a Paris pendant 2 ans. Vous cherchez un studio
dans un batiment moderne. Demandez le loyer des appartements
dans les quartiers différents.
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Q.3) Traduisez en anglais : [20]

(@ Dans les auberges, le propriétaire ou la propriétaire fait la cuisine.
IIs ont appris les recettes de leurs parents ou grands-parents.
IIs les aiment comme ils aiment leur pays, leur région et leur métier.
Dans leur menu, ou dans leur carte, vous trouvez des produits
amoureusement cuisinés pour vous.

A Angers, Eric propriétaire du Saint Gourmand, 35 ans, et sa
femme Carole, 32 ans, ont pour la cuisine la passion que d'autres
ont pour la musique. Il n'a pas de spécialités. Tous ses plats
sont des spécialités. Le midi, le repas d'affaires a 150 vous est
servi en trois quarts d'heure.

L'employé : Mous voulez des especes ou des cheques de
voyage ?
Bernard . Je veux des especes. Je veux aussi commander

des chéques de voyages, en euros. C'est pour
mon voyage en Allemagne aussi.

L'employé : \ous avez une piece d'identité, s'il vous plait ?

Bernard . Oui, voila mon passeport. Vous pouvez préparer
deux mille euros en travellers ?

L'employé : Oui, bien sir. Pour lundi matin, ¢a va ? Passez
a la caisse pour les especes.

Bernard : Oui. Merci, monsieur.
Q.4) Compréhension

Janine va dans une station-service.

Janine . Le plein, s'il vous plait.

Le pompiste : Normal, super ou sans plomb ?

Janine . Sans plomb, s'il vous plait.

Le pompiste : Vous voulez que je vérifie I'huile et l'eau ?
Janine . Oui, s'il vous plait.
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Le pompiste : Mous n'avez besoin ni d'eau ni d'huile.
Janine . Bon, je vous dois combien ?

Le pompiste : Le plein de sans plomb ! Ca fait 89.

Janine . Voila un billet de 100e. Je n'ai pas de monnaie,
je suis désolée.
Le pompiste : Ca va Madame. Woila 11. Vous voulez un recu ?
Janine . Oui, s'il vous plait.
Le pompiste : \oila, madame. Au revoir et bonne route.
(a) Répondez aux questions suivantes : [04]

(i)  Pourquoi Janine va-t-elle dans une station-service ?
(i)  A-t-elle besoin de I'huile ?
(b) Dites vrai ou faux : [02]
(i) Janine veut un regu.
(i) Janine donne un billet de 500s.

(c) Donnez l'infinitif : [02]
(i) dois
(i) voulez

(d) Mettez a I'affirmatif : [02]

\Vous n'avez besoin ni d'huile ni d'eau.
Q.5) Grammaire et vocabulaire :
(@ Mettez au pluriel : [04]
(i) Je cherche le supermarche.
(i) L'appartement est petit, mais confortable.

(b) Mettez les verbes entre parenthéses au temps ou au mode
indiqués : [03]

(i) Les clients (Chercher - présent) des magasins.
(i)  Le directeur (prendre-futur) son courrier.

(ii)  Nous (commander - passe composé) le steak.
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(©)

(d)

)

(f)

(9)

[4269]-126

Complétez avec des prépositions : [02]

@ Iy a une belle maison ce quartier.

(i) Jaime ce cocktail crevettes.

Mettez au négatif : [06]
(i) 1l change des euros en dollars.

(i) Je voudrais parler au directeur.

@) Il 'y a un salon d'essayage.

Trouvez l'objet direct : [05]
(i) Marc prend le train.

(i)  Albert commande la tarte.

(i) Je ne veux pas manger ce fromage.

(iv) Moi, je prends le vin.

(v) Nicolas cherche la Maison de Vins.

Dites vrai ou faux : [05]

()  Au super marché on achete une raquette a la section
"fromages".

(i)  Un habitant de I'Espagne est suisse.

(i)  Le directeur commercial d'une entreprise dirige les activités

de ventes.
(iv) Pour prendre le train en France, il faut composter le
billet.
(v)  Pour acheter ou vendre une maison, vous allez chez I'agent
de voyages.
Choisissez la bonne réponse : [05]
(i) Dans les auberges, le fait la cuisine.

(1) propriétaire
(2) serveur

(3) réceptionniste.
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(i)

(iii)

(iv)

v)

Le directeur des ressources humaines dirige les activités
de

(1) finances
(2) vente

(3) licenciements

La féte du Travail, c'est le mai.
1) 5
2 1
@) 2

Les chambres de commerce sont financées par la
(1) la taxe professionnelle payée par las industriels

(2) le gouvernement

Au supermarché vous achetez des a la papeterie.
(1)  livres

(2) lampes

(3)  jupes
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[4269]-127
F. Y. B. Com. Examination - 2012

GERMAN
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden Fragen ! [20]

(1) Ihr Freund hat Geburtstag. Was Wiinschen Sie ihm ?

(2) Wie viele Zimmer hat Ihre Wohnung ? Wie grof ist lhre

Wohnung ?

(3) Was hat lhre Schwester am Wochenende gemacht ?

(4) Wie kann man nach Delhi fahren ?

(5) Nennen Sie vier Nachbarlander von Deutschland !

(6) Ich habe Zahnschmerzen. Was soll ich tun ?

(7) Nennen Sie vier deutsche Industrien !

(8) Was soll man zum Frihstiick essen und trinken ?

(9) Wielange dauert lhre Prifung ?

(10) Ihre Kamera funktioniert nicht. Warum ?

(11) Sie mdochten gesund bleiben. Was machen sie ?

(12) Wie heift das deutsche Parlament ?

(13) Seit wann ist Deutschland ein staat ?
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Q.2) Lesen Sie den folgenden Text und beantworten Sie die Fragen !

Es gibt viele wichtige stddte in Deutschland, Z. B. Minchen, Berlin,
Leipzig, Bonn, Frankfurt usw. Es gibt eigentlich zwei stadte mit dem
Namen ‘Frankfurt’ in Deutschland eine liegt am Flup am Main und
die andere ist an der Oder. Frankfurt am Main ist viel wichtiger und
beriihmter als Frankfurt a.d. Oder.

Frankfurt am Main (637000) ist die gropte stadt in Bundesland Hessen.
Frankfurt ist der wichtigste Banken - und \ersicherungsort in
Deutschland. Die stadt hat auch den gréften. Flughafen der
Bundesrepublik Deutschland. Auf diesem Flughfen landen und starten
Flugzeuge aus aller Welt.

Heute bestimmen die Hochhduser der Banken das Bild der stadt.
Daneben gibt es aber auch historische Gebdude. Frankfurt hat in der
deutschen Geschichte oft eine wichtige Rolle gespielt. Im Dom wurden
einige deutsche Kaiser gekront (crowned).

Frankfurt am Main ist auch der Geburtsort Goethes (1749). Goethe
war ein bekannter Schriftsteller von Deutschland.

Seit 1240 ist Frankfurt Messestadt. Weltweit bertihmt ist die Frankfurter
Buchmesse; diese Messe findet jedes Jahr im Oktober statt. Die Stadt
ist auch weltbekannt fur ihre Museen und Kunstgalarien.

(A) Fragen : [08]
(1) Was bestimmt heute das Bild von Frankfurt ?
(2) Woflr ist Frankfurt bekannt ?
(3) In Welchem Bundesland liegt Frankfurt am Main ?
(4) Suche Zwei Stadte und zwei Flisse in Deutschland.

(B) Sind die folgenden Aussagen richtig oder falsch ? [02]
(1) Der Flughafen in Frankfurt ist in Deutschland am gropten.
(2) Goethe War in Frankfurt geboren.
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Q.3) (A)

(B)

Ubersetzen Sie den folgenden Text ins Englisch oder Marathi !

Weihnachten ist die schonste zeit in Deutschland. Man feiert das
am 25 Dezember. Man feiert das Fest mit der Familie. Dieses
Jahr feiern Herr und frau schdnherr das Fest mit ihrem Sohn
und ihren Eltern. Michael, ihr Sohn, Wohnt nicht mehr bei ihren
Eltern, in Berlin. Seit einem Jahr studiert er Germanistik in
Kassel, Aber er berucht sie zu Weihnachten. Dieses Mal méchte
Herr Schonherr auch Familie, Konig einladen. Familie Konig
wohnt ihnen gegeniber. Morgen Abend gibt es das Festessen.
Herr und Frau Schonherr missen noch einkaufen. Sie gehen
zuerst zum Supermarkt und kaufen dort Getréanke und Lebensmittel
ein. Nach dem Einkaufen gehen sie direkt zum Bahnhof, denn
sie missen Michael vom Bahnhof abholen. Seine Freundin Lea
aus der Schweiz begleitet ihn. Das ist eine Uberraschung !

Am néchsten Nachmittag nach dem Kaffee und Kuchen findet
die Bescherung statt. Es gibt Geschenke fir alle. Von seinen
GroPeltern bekommt Michael eine Flugreise nach Indien. Das
ist ein supertolles Geschenk, denn seit seiner kindheit traumt er
davon. Beim Abendessen erzéhlt Herr KOnig von seiner letzten
Reise nach Indien.

Ubersetzen Sie ins Deutsche !

(1) My dishwasher is quite new.

(2) How much does this chair cost ?

(3) The teacher explains the text to the students.
(4) My uncle’s flat is new.

(5) | am waiting at the busstop.

Q.4) Grammatik und Wortschatz :
(A) Erganzen Sie das Perfekt ?

[4269]-127

(losfahren, warten, sehen, diskutieren, gehen)

Gestern ich einen film . Um 18 Uhr ich von
zu Hause . Mein Freund Jens am kino auf mich .
Dann wir ins Kino . Nach dem Film wir dartber

viel

[10]

[10]

[09]
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(B)

(©)

(D)

(E)
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Bilden Sie die Fragen ! (nur dvei) [03]

(1) Das Auto ist neu.

(2) Ja, ich bin Politiker.

(3) Im Mai fahrt Sachin nach Frankreich.

(4) Maria steht sonntags Um 9 Uhr auf.

Erganzen Sie die Modalverben ! (nur dvei) [03]

(1) Ich gehe einkaufen. Aber zuerst ich zur Bank
(ATM) gehen.

(2) Die Gropmutter _ die Zeitung lesen. Sie __ aber
ihre Brille nicht finden.

(3) Im Zug man nicht rauchen. Es ist geféhrlich.

(4) In Indien man immer links fahren.

Erganzen Sie die Endungen ! (nur sechs) [06]

(1) Sachin ist ein __ toll __ Cricketspieler.

(2) Unsere Stadt hat jetzt ein _ modern __ Theater.

(3) Mdochten Sie dies ~ Klein _ Schrank Kaufen ?

(4) Welch _ Kileid tragst du ? Dies __ Dblaue.

(5) Bitte, schreiben Sie Ihr _ neu  Handy nummer
auch !

(6) D grof __ Wohnung hat nur einen Balkon.

(7) Nach dem langweilig _ Unterricht mochte ich ein
interessant _ Buch lesen.

Erganzen Sie die Personalpronomen ! (nur dvei) [03]

(1) Kennst du den Jungen da ?
Nein, ich sehe _ heute zum ersten Mal.

(2) Wie findest du das Essen ?
Ich finde _lecker.

(3) Und die Suppe ?
Ich finde _ zu scharf.

(4) Erich und Tina, ich rufe __ morgen an. Ich muss jetzt
gehen.
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(F)

(G)

(H)

(1

()

Erganzen Sie die richtigen verbformen ! (nur vier) [02]

(anrufen, sein, mogen, nehmen, arbeiten)

(1) Wann __ du mich ? Gegen 7 Uhr.

(2) Ihr __ noch kinder.

(3) Was __ Sie als Nachspeise ? Eis ?

(4) Nein, Eis ____ ich nicht.

(5) Mein Freund 10 Stunden Pro Tag.

Erganzen Sie die Prapositionen : (nur vier) [02]

(1) ___ Brille Kann Michael nicht lesen.

(2) Diese CD ist __ Kavin.

(3) Né&chste Woche spielt Indien _ Australien.

(4) Wir machen in Winter eine Reise __ Sudindien,

(5) ___ wieviel Uhr fangt die Prifung an ?

Bitte Ordnen Sie zu ! [02]

(1) Wasch deine Kleider mig enommen ?

(2) Hast du deinen Mantel selbst angeschlassen.

(3) In der Schweiz gibt doch selbst.

(4) Ich habe die was chmaschine es vier Sprachen.

Erganzen Sie das richtige Wort ? (nur vier) [02]

(1) Fleisch kann man in kaufen.

(2) In der darf man nicnt laut sprechen. Leute lesen
hier Bucher.

(3) Geld kann man auf der wechseln.

(4) Berlin ist die von der Bundesrepublik Deutschland.

(5) Frdhling, Sommer, Herbst und Winter sind die

Was passt nicht ? [02]

(1) Strape, Weg, Gasse, Nummer

(2) Stadt, Reichstag, Staat, Land

(3) dunn, grop, manchmal, schmal

(4) Deutsch, Spanisch, Italien, Turkisch
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F. Y. B. Com. Exmination - 2012
URDU
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
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“Cotton Textile Industry 1s the oldest industry in
our country. The largest number of cotton mills are
located in the cotton-producing regions of Gujarat
and Maharashtra. Mumbai in Maharashtra and
Ahmedabad in Gujarat are the principal centres of
this Industry. The other important centres of
cotton textile mills are in Sholapur, Pune and

Nagpur in Maharashtra™.
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Total No. of Questions : 5] [Total No. of Printed Pages : 2
[4269]-129
F. Y. B. Com. Examination - 2012
FOUNDATION COURSE
(Restructuring)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Culture ? State and explain various characteristics of

Indian Culture. [16]
Q.2) What are the causes of Rapid Growth of Population in India ?

Suggest measures to Control the Increasing Population. [16]

OR

Q.2) What are the various Obstacles in achieving the Goal of National

Integration in India ? Suggest measures to remove Obtacles. [16]
Q.3) (A) What is the importance of Religion in India ? [08]

(B) Write note on Human Values. [08]

OR

Q.3) (A) What are the Characteristics of Science ? [08]

(B) What is the importance of Agriculture in Indian Economy ?  [08]
Q.4) Explain Concept of State, Government and Nation. [16]
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Q.5) Write notes on the following : [16]
(@ Merits of Caste System
(b) Concept of Liberty
(c) Time Management

(d) Rule of Law
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Total No. of Questions : 3]

[Total No. of Printed Pages : 2

[4269]-130
F. Y. B.Com. Examination - 2012
COMPUTER APPLICATION

(Vocational Course - 1)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Q.1) Answer the following : (Any Three) [15]
(@ Differentiate between DOS and Windows.
(b) Explain any five features of MS Word.
(c) Explain the uses of Internet in Modern World.
(d) Explain Generation of Computer.
Q.2) Solve the following : [10]
(@ Convert from Binary to Decimal :
()  (11011100),
(i)  (10011101),
(b) Convert from Decimal to Hexadecimal :
() (430),,
(i) (211),
(c) Binary Addition :
10011 + 1010
(d) Binary Subtraction :
11001 - 10011
(e) Binary Multiplication :
1101 x 1110
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Q.3) Write short notes : (Any Five) [15]
(@ Write features and tools used in MS Power Point
(b) Search Engine
(c) BCD
(d) E-mail
() Output Devices
()  Storage Devices
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[4269]-131

F. Y. B. Com. Examination - 2012
ADVERTISING, SALES PROMOTIONS AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION (THEORY)
(Vocational Course-I)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain the concept, nature and importance of Communication. [12]
OR

Q.1) What do you mean by Communication ? State importance of
Communication in Marketing. [12]

Q.2) Explain the Process of Communication and state various Principles

of Communication. [12]
OR
Q.2) What do you mean by Public Relations ? Explain the tools used in
PR. [12]
Q.3) Write short notes : (Any Two) [16]

(a) Event Management

(b) Means of Communication

(c) Communication Skills and Presentation

(d) Problems in the Process of Communication
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F. Y. B. Com. Examination - 2012
TAX PROCEDURES AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(Vocational Course-1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Five) [10]
(@ What is the main purpose of Taxation in India ?
(b) Define Tax.
(c) What do you mean by Canon of Taxation ?
(d) What do you mean by Tax Sharing ?
(e) Define Direct and Indirect Tax.
()  State various Acts of Hindu Law.
(g) Define Partner, Firm and Firm Name.

Q.2) Answer in 50 words each : (Any Two) [08]
(@ Give the difference between Direct and Indirect Taxes.
(b)  Write note on ‘Income’.
(c) Write down the “Sources of Hindu Law’.

(d) State any ten Inherent Powers of the Court.

[4269]-132 1 P.T.O.



Q.3) Answer in 150 words each : (Any Two) [10]

(@  Write the provisions of Article 246 of the Constitution of India
in respect of Subject Matters of Laws to be made ?

(b) Write note on ‘Administrative Set-up of Indian Tax System’.

(c) State various Taxes of State Govt.

(d) State the disadvantage of Indirect Taxes.

Q.4) Write long answer about 500 words : (Any One) [12]

(@) State various Canons of Taxation and explain in detail each of
them.

(b) State various Schools of Hindu Law and explain each with

reference to :
(i)  Joint Family
(i)  Co-parcenery

(i) Co-parcenery Property
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F. Y. B.Com. Examination - 2012
COMPUTER APPLICATIONS
(Theory)
(Vocational Course-I11)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) Draw a neat and labelled diagram wherever necessary.
(2) Figures to the right indicate full marks.

Q.1) Write syntax and give the following functions : (Any Five) [05]
(@ getchar()
(b) atoi()

(c) strrev()
(d)  putchar()
(e) printf()
(H clrscr()
(9) strepy()

Q.2) What will be the output of the following modules : (Any Four) [08]
(@ main()
{
char c¢=65;
while (c<=70)
{
printf(“%d%c”, c, cj);
C++;
¥
b
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(b) main()
{
int x = 300, vy, z;
if(x>=300)
y = 400;
z = 200;
printf(“\n%d%d”, vy, z);
}
(c) main()
{
int x = 1;
while (X == 1)
X =X -1
printf(“\n%d”, x);
}
(d)  main()
{
char j = 1,
while (j <=255)
{
printf(“%d, %c”, j, j);
JtH+;
}
}
(e) main()
{
inti =1;
while (i <=10)
{
printf(*\n%d”, 1);
i++
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(f)

main( )

{
int1 =3 m=4n=4
printf(*ans=%d”, (m > = n ? 100 : 200));

¥
Q.3) Write short notes : (Any Five) [15]
(@ Flowchart
(b) Keywords and ldentifiers
(c) Condition Statements in ‘C’
(d) Do while loop
() Nested IF Condition
(f)  Strings
Q.4) Answer the following : (Any Three) [12]
(@ Accept 3 digit number as input through keyboard, write a ‘C’
program to add the digits.
(b) What are Arrays and need of an Array ?
(c) Explain different types of Operators with example.
(d) What is Function and recursion in Function ?

)

Write a C program to add all the odd numbers between
1 to 50.
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F.Y.B. Com. Examination - 2012

ADVERTISING, SALES PROMOTIONS AND SALES MANAGEMENT
PAPER - 11
ADVERTISING (THEORY)
(Vocational Course - 1)

(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What do you mean by Advertising ? Assess the role of Advertising

in the modern world. [12]
OR
Q.1) Define Advertising. Discuss the advantages of Advertising. [12]
Q.2) Explain different types of Advertising. [12]
OR
Q.2) State and explain different objectives of Advertising. [12]
Q.3) Write short notes : (Any Two) [16]

(@  Advertising Budget
(b) Careers in Marketing
(c) Sales Promotion

(d)  Appeals used in Advertising
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F. Y. B. Com. Examination - 2012

TAX PROCEDURES AND PRACTICES
PAPER - Il
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 11)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Five) [10]
(1) What is meant by ‘Tax Free Goods’ ?
(2) What is “VAT’ ? Discuss its advantages.
(3) Who is ‘Dealer’ under M.VAT Act ?
(4) What are the provisions of Sec. 3(4) of M.VAT Act ?
(5) What Constitute ‘Business’ under M.VAT Act ?
(6) Explain the term ‘Declared Goods’ under CST Act.

(7) What are the Form for Application of Registration under M.VAT
Act and C.S.T. Act ?

(8) What is meant by Documents of Title of Goods ?
(9) Explain the *Sales Out Side the State’ under C.S.T. Act.

(10) What is provided by Entry 92A of List | of Schedule VII
of Indian Constitution ?
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Q.2) Answer the following in 50 words each : (Any Two) [08]

(a) Explain the term “Sale’ under M.VAT Act.

(b) Which Sales are not liable to Tax under the M.VAT Act ?

(c) What is meant by ‘Registration” ? Who and when Liable for
Registration under CST Act ?

(d) Discuss the scheme and objects of CST Act, 1956.

Q.3) Answer the following in 150 words each : (Any Two) [10]

(@) What is ‘Return’ under M.VAT ? Who and when is required to
submit returns ?

(b) What is meant by ‘Schedule’ under M.VAT Act ? Enumerate

(©)

Schedules with Rate of Tax under M.VAT.

What is meant by Sales in the Course of Inter-state Trade and
Commerce under C.S.T. Act, 1956 ?

(d) Explain the term ‘Appropriate State’ under CST Act.
Q.4) Write long answer : (Any One) [12]
(a) Enumerate Constitutional Provisions for Enactment of State Sale

(b)

Tax and Central Sales Tax Act.

Who is Commissioner ? How is he appointed ? Enumerate and
discuss his powers and duties.
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